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I. 2n mwn: if members of the nan slept
a. If: some of them slept, they may still eat upon awakening
b. But: if they all fell asleep, they may not longer a”p
c. »or /7. if they dozed, they may eat; if they slept, they may not eat
II. 10 mwn: status of noa after midnight (and other n’>10a)
a. fmxyn »nx: after midnight, meat of 2”p has 11297 nrkmMY
i. Observation: this follows y"ar (contra y™ — see below), who allows ©'noa nHx until midnight only
1.Source: vv 1-2 nrn::nr; just as M2 nan happened at midnight, so onoa n%aR is until midnight
ii. p” it must be eaten until the hour of “haste” nran (v3) —i.e. morning
1.7 1 necessary to teach that it isn’t eaten for 2 nights & 1 day in between (inversion of other nnow)
2.y7an7. would answer that it already says that (v4) - may not be eaten past 1t night
a) Y77 R™0 “morning” refers to 24 morning (i.e. the 16%)
b) »7ax7 “morning” (Wp31) is always the immediate morning (pwr1 1p1)
iii. ~27 according to ¥"ar", n¥n must be eaten before mxn
1.Justification: X"10 when n¥n was made an independent mxn, it is independent of the noa jn1, Y"np
b. Other p’w77. same rule (D7 nRMV) applies to all other 91ma — and to s
i. ~7DP 777 217 27 have 2 disagereements (?) about this nm
1.reasons for nm
a) 70725 »rem Untrustworthy oo
b) Anno byy. Lazy onand
c)Note: they don’t disagree; “suspicion” relates to 5ws; “lazy” explains 1n
2.Amount: minimal 1w which generates 01 nxmv
a) 1. per amount of MR
b) 7¥223. based on DY21R NRMV
1. 2v nwn: noan N1 and narn nova
a. SNYpHY’ 7. NDAN NI “covers” NAN N273, not vice-versa
i. Reason: np1 (requirement of the nyan) is included in n»aw (requirement of the noa) and not vice-versa
b. »”r neither “covers” the other
i. Reason: np7t and n»aw are mutually independent forms of ©nT 1nn; neither is valid where the other is called for
ii. Tangent: story involving '®onw " (3" generation *9R7% PR »1NR) who came to a jan 79
1.Was asked: if 102 makes jntn na73, as he is receiving money; or if father does, since he is fulfilling nmxn
a) Response: father makes both m71 (y”apxr and jnt) since he’s performing the mxn
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